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mL L µµµµmol
Assorbanza

volume 0,5
mL L µµµµmol

Assorbanza
mL L µµµµmol

0,00 0,0E+0 0,0E+0 0,0000,00 0,0E+0 0,0E+0 0,000
0,4

0,00 0,0E+0 0,0E+0 0,000

0,25 2,5E-4 1,0E-1 0,053
0,4

0,25 2,5E-4 1,0E-1 0,053
0,4

0,25 2,5E-4 1,0E-1 0,053

0,50 5,0E-4 2,0E-1 0,1050,50 5,0E-4 2,0E-1 0,105
0,3
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1,50 1,5E-3 6,0E-1 0,292

2,00 2,0E-3 8,0E-1 0,381
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2,00 2,0E-3 8,0E-1 0,381
y = 0,4743x + 0,0071pendenza 4,7425E-1 y = 0,4743x + 0,0071

0,1pendenza 4,7425E-1 y = 0,4743x + 0,0071

R² = 0,9986
0,1

intercetta 7,1138E-3
R² = 0,9986

0,1

intercetta 7,1138E-3
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molaritàvolume molarità
Assorbanza

volume 0,5molarità

mL L µµµµmol/L
Assorbanza

volume 0,5

mL L µµµµmol/L
Assorbanza

mL L µµµµmol/L

0,00 0,0E+0 0,0E+0 0,0000,00 0,0E+0 0,0E+0 0,000
0,4

0,00 0,0E+0 0,0E+0 0,000

0,25 2,5E-4 2,5E+1 0,053
0,4

0,25 2,5E-4 2,5E+1 0,053
0,4

0,25 2,5E-4 2,5E+1 0,053

0,50 5,0E-4 5,0E+1 0,1050,50 5,0E-4 5,0E+1 0,105
0,3
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0,50 5,0E-4 5,0E+1 0,105

0,75 7,5E-4 7,5E+1 0,155
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0,75 7,5E-4 7,5E+1 0,155
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0,75 7,5E-4 7,5E+1 0,155
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1,00 1,0E-3 1,0E+2 0,202
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1,50 1,5E-3 1,5E+2 0,292 0,2
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1,50 1,5E-3 1,5E+2 0,292

2,00 2,0E-3 2,0E+2 0,381
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2,00 2,0E-3 2,0E+2 0,381

pendenza 1,8970E-3 y = 0,0019x + 0,00710,1pendenza 1,8970E-3 y = 0,0019x + 0,00710,1

intercetta 7,1138E-3 R² = 0,9986intercetta 7,1138E-3 R² = 0,9986

0,00,00,0
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